EARAZROREIERT — 2 N—XBISY —F 20135F9R21H () 7MEIER1H

KM C2+t# C2+t# +5%—# (w8 | mEmml - |5 5 o s
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o > AR :28. — . — HEE= (BRE
il #L=%ay+3 > 3 o 1(2_8)5 3-3 38.6 3 42;2 Eae=
LTANRTy Y2 BvAELT A 4— B #
o = . FHER :28. = . — 1EEHE (KR)
2 6| 377N i 3 i 1(72?:;5 1-1 38.7 1 (ﬂj) e
R:7V% X Bi¥vyhzuS (A=t e
SE . 4 3 | BB 1:28.8 1-1 39.1| — 2 451 | ERAE (KR)
3155 IL/7ZEy b 54.0$ (1 1/2) (-11) ;Eﬁi
Rigy TELRYF— BHAYITEY b it
. — = [k i : - — =iEi (KR)
418|g| *AHEXTHZ C 54.0 1'(269)'7 - #:3 ! (ﬂ;) REWET
AL aK—F— B:TIVHLANA SEHS
s — v e BERRE :29. - . — WP E— (KiR)
5 3 <H -5 R 4 3 5_0 1(729t§3 4-4 39.4 4 (4_213; :r—g;‘g 7
R:d—IWR7Y2—Ib B:eh>RH—EX HO 1E
v Ky K 4 8 | AR 1:29.8 7-8 39.0| — 5 509 | bR (E&ME)
6lzl7| vy KUy R 54.0 (7 E) o) | FEXK
LT >N=h> )= B:RKLTsv 70— (ke ]
= 2 4 5 | SIEEE 1:30.0 8-7 39.2| — 6 430 | FER= (BERE)
TN 4|\ KV ITTY 56.0 (3/4) Cy | @ x-zsy
RiAA LTI KT Biky bIKy b R 5
i 6 | BIEBEM 1:31.4 6-6 409 - 8 422 | tEAARE— (KR)
3 2| AF =T bk —7 56.0 © 1) ) kAT
R:ZFAT—IK B:T7AFUyF plin:: e ]
@ 1—F—@&BIEf
13—7—
23— —
G§a=7r= (5,6),1,(3,8),2,7,4
43—F— (5,6),1,(3,8),2,4,7
[ RN
B OB 1 600 714K 1-6 180H B E 1-6 500 &R 1-5-6 360M
8 B 1 110 1-5 320M B H 1-6 2,750 JEH 1-6-5 6,490/
6 1004 5-6 120H
5 1009

ABICOVWTRDTEEERROODE. TR LIV,



